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)  Note to teschers and PErents

Developmg mental arithmetic skills to one of the two students. Both will want it but
only allow one to prevail. The other student will

complain about how unfair the game is until the
rules are made clear. The student with the
ulator must press the appropriate buttons

Automatic response—the ability to quickly recall
basic mathematical facts, or to apply a known

fact to a slightly modified situation or
application—is an essential preregisi

. and

success in mathematics. stud hey should be able to recall
c NAMts W  relafi¥e 2x5o0r7 + 4. Now

‘ t fthe ™ wa d i alculator complain

dirffin the that the gam
ignifi t mental arithmetic an encumbrance S| ion 9 x 35 to
the contrary, the see who is first with er. If the
hnology has increased the  student using mental a
Q ntal arithmetic skill competent, 350 — 35 = 3 i@ o35 minus
tudents. Without relatively one lot of 35) might still be
esination prior to calculation, merely 9 x 35 = 315.

ing afllace value a solution on a screen
an be t with danger. Inadvertently hitting

e wrong buttons on a calculator is a commonl . o :
9 , Y is the likelihood of structural computationd
fact of life. The result on the screen . N
success. Algorithms, such as Ionl multiplidation

| |
or-review: purpases-on
. _ u and
onsicgr t t trat ) OfpustQ%. udents with ina equateintal

g lculations secondary school students complete

It is also the case that the fas
with his or her basic number fo&&;

bCcurrin
houl

A _ arithmetic skills often take so long to reca
Ae gemmeon the calculator, the validity of this .

i @ di o basic number fact that they forget :

oe readily perceived. of the algorithm that they are pr8 |
f primary school, a student should through. For these students the\es

abit of estimating and rounding off foundation of times tables kno 9
i a Ca|Cu|at0r fOI’ Computationa| inadequate_it is ||ke tryqu
foundation of sand. Witho

r facts, which should

n
have been devéigp %;tently throughout

The better a student’s ab achieve in the subject and
arithmetic, the less time he or sh& Joyment that student will derive
devote to looking up answers on a screen, in a rom the discipline. The message is clear:
book or on a chart. This point is demonstrated ~ regularly practise automatic response games
graphically with the game of ‘beat the and activities, chants and rounds and all will
calculator’. Line up your students in pairs and benefit. Try to teach these number facts in as
tell them that some maths questions are going ~ fun and meaningful a way as possible.

to be asked of the students who progressively Incorporate concrete materials and incentives
come to the head of the line. Offer a calculator  into your number facts lessons.



Above all, teach for understanding. When
teaching the 3 times table, show that the digits
in the multiples will always sum to 3, 6 or 9.
Show that the answers to the 9 times table
always sum to 9. Show that adding on 8 is ng

em at every possible
ook and the other books in
ow you how.

this book

sponse capabilitiegydemands a

uld encompass the full range of the
curriculum, covering measurement
s, data and chance questions as

er problems.

this series assist with the

ntal arithmetic skills in a
manner. Each book in the
fayork. Each unit

over for homework. Alteriag
week could be devoted to the
the six sets.

Each exercise in the book focuses on a specific
concept, such as perfect squares, or 24-hour
time. The exercises have been set out in a
logical sequence according to topic, for
example division facts should be taught prior
to the concept of factors and common factors;

lassr
he 8o

OLIEYIEVW PDUrPDSES. Of

fractions and decimals need to be taught prior
to the concept of percentage. However, the
order in which the exercises are completed can
be varied to suit the needs of your students.
exercises are at their most useful when
linked opic under review in the

front cov@r
for the use of
relevant as possible
learning capabilities.

Y, yts’ individual

At the top of each unit o Were
the students, to help them wo %u ‘
exercises in that unit. At the 8Q

The Handy maths facts on pag
included as useful reference material for

students.
e

scores on the unit exercises and to rate thg
own progress and performance.

A list of answers is found in the
book and can be removed and st
deemed appropriate.

The terms used in thj

wide variety of mathe
designed to reflegt t

ect th
disciplin m@@«
YOS

er’ all refer to the process of addition
will have obvious benefits when a student has
to tackle an addition problem set in context, or
when problem solving.

A Glossary is provided on page 72 as a ready
reference.
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60

72

84

96

108

120

132

144

Metric prefixes

All whole numbers

-For review FiuTnﬁSﬁS oy

kilo means 1000 4 divides into last 2 digits -
@ eans 1 000 000 >x Numbers ending in 5 or 0
6 x Even multiples of 3

7 x Double the unit and find the differe
this and the tens. It will equal 0,

e ol €S
“eﬂ S .\}N\/aien‘ 8 x 8 divides into last 3 dlglts

9 x  Digits sum to 9
. teE O getOor 11
. Numbé‘x‘k\ e 3 and 4 x tables

Plage vawc Ghaf"t

W~n

1 metre (m) =

10 x  Numbers ending in 0

1 kilometre (km) 11 x  Subtract umts fro

1 kilogram (kg) = 1008
1 tonne (t) = 1000 kg
1 litre (L) = 1000 mL

Millions Period Thousands Period Ones Period
hundreds tens units hundreds tens units hundreds tens units
1 5 2 6 8 7 4 3 9

One hundred and fifty two million, six hundred and eighty seven thousand, four hundred and thirty nine
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pyramid

rectangular prism




@ How well 2n | deing?

After you complete each set of work, fill in your score out of (0.
At the end of the six sets, rate yourself in the following way:

P = Participant; B = Bronze medallist; 8§ = Silver medallisti G = Gold medallist!

Unit Topi® * S tD [SatE |SetF | My
Rating

1 The hig#fry of n(line¥@tion:

Ro numer J
2 ditio

ddinggz- numbers
3 4 Addi
ing powers of 10

4 btrg8tion: Subtracting

2- numbers

Subtraction: Subtracting
ers of 10 m

ul tio
and division facts

iplication: Multiplying

owers of 10 ~
8 M lication: (D,
#pg and estimating
A

9 | Dividing with

remgli r
10 | Division @ivj b

powers O
11 | Multiples an O

multiples

12 Division: Factors and
common factors

13 | Primes and composites

14 | Perfect squares and
square roots




Unit Topic Set A|SetB |SetC |SetD [SetE [SetF -
Ratlng
15 | Place value and
rounding off
16 | Fractions: Equality, simplest
form and mixed numbers
s
17 | Fractions: Addition and
subtraction
r\
18 | Fractions: Figing
fractions g an a t
19 | Decinglls: PI u
angfroun
20 cimals: ition and
ubtr, L |
214 F ioms, decimals and
rceNbages
2 ages of an amount
ber strings =
Length and perimeter:
versions and missing sides
2 @ : Concept and .
plication
26 its and
ons k
27 | Ca lume: Units
and rgfeps
*
28 | Time: Didgalfan X
conversions a - .
29 | Money: Amounts (\i a ;
four operations
30 | Direction and angles (\
31 | Chance: Concepts of
likelihood

32

Revision: All sorts




Unit 1 The fsis‘tory of puleration:

(Se‘t B Write these numbers

in Roman numerals.

Ronan nUnef'alS
Change these numbers
The Roman system into Hindu-Arabic.
is different to the -
Hindu-Arabic system that . h %
we use. The Romans pefi \

Vil

no F)lace value, .d ( » 73

considered egfh dig IX

separatelyglhey N\
the sgmbols o

! i, \

lt'o' Y
M : XXX

Fonseview filrpeses only

XL
© o
Sct E 1 X+XX= \
% these problems 2 XllxVll=__ ’
i @—Arabic.

3 XL-VlI=

NV 00 N o0 g b

_—

. 4 |X+V=

L+XXX+1l=



Change these numbers E
into Hindu-Arabic.

Write these numbers

1 (o] D in Roman numerals.

1 502
2 515
3 555
613
5
—
8
9 900__g0%
- 10 999
0 QO ) \
S Answer ‘true’ or ’ .
Of féView purposes ol
The Romans never used the same symb®& more tha# three times
2 v@rs after Xl is | on a clock face.
3 ge Vlllccomes three before page X. - '~
4 X quals 40.
5 2006 Xth century. -
6 Police A came six films after Police Academy |. ~
7 2010 will be wWhigt /{ v

8  The 27th Olympiad, Eﬁ ca%\g piad.

9 Louis XVI was the 17th king o

10 There are XXIV hours in a day.

NSW: Number NS3.1; Qld: Number concepts N4.1; .
Vic: Numbers, counting and numeration 4.1; WA: Number N4.1a; SA: Number 3.6



Set

9 =

+ 7 + 4 (Il opfO +

W};en adding “2-digit 1 27419 =
numbers mentally, start TSRS
with the tens and then » - 2 33+29=
add the ones. \ 6 N l—— 346 + 39 =
37 + 44 =30 + 48(70 (\ 3B=1_ 4

2
27+37=E e’ + 19
18+48=B 6& 9=

39+59=B

E 7 37+3
25 =

S5+ 8 55+

27 + 47 = [j 9 66+Q

When adding Q
ending g9, lo& short
O
66 + 26= E]
10 38+49=
19+79 = B

FC JUI

70+ 1041 =

o) foe) ] o al )

Find the sum of 22 and 48
Combine 35 with 45

What is the total of 47 and 477

Add 19 to 26

Combine 65 with 26
What is the total of 11 and 79?
Add 43 to 28

10  What is 68 and 29 altogether?




—

2§ My pot plant was 45 cm tall last year and has grown another 15 cm. It is now c
ster and | each have 37 horse stickers, a combined total of stickers(\U

Tb@oenix scored 34 goals in the first half and 27 in the second. Their total
ege®aie 28 students in 6R and 29 in 6T, which makes students alt
@ scored 54 and 36 runs and combined to add

% have $46. Can we combine our money to
| lost 17 markg @l«?st 4 on the secong _}
A transport survey spOtgd 47 eg d

My 200 m sprints were completed in 28 and 27 seconds, a combined time of seconds.

CL e
DN 7 SPRINT ‘
— ,
NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8

uesday— for the two days.

©O VvV 0 N o0 Uu M w

—_—



When adding
humbers hear a power
of 10, like 9, 102,

Fonsevie\ pikpos

3

6
7
8
9

10

j 344 plus 98?7

Add 99 to 222

Find the sum of 323 and 99

Find the total of 777 and 98

Q] oL
S Educal
What is 154 and 102 altogether?

Add 997 t0 4333 __

Combine 884 with 1003

Is the sum of 99, 98 and 97 equal to 3947




Sc: €

17 + 101

38 + 999 = D
2 999 + 64 = D
3 95+999 = D
4 213 + 999 = D

32 + 101

47 + 101

68 + 101

83 + 101 =

“FOr-review purposes-omy-

My Granddad was born in 1893 and died, aged 99, in

3 ners scored 67 and 99, a combined total of _ runs. . CD'
4 Qarlto ored 55 points and lost by 102 to Geelong, who scored __ . \\
5 38 and were 98 behind WA, who scored . {D‘

6 Sl

7 From Fedgra#ffopPm, 1901 to the 2000 Sydney Olympics was a period

el(!/ 8d from 1894 to 1997, a period of
&HEeuycal
itfe aLgefater.

9 Beethoven was born
10 In the second half, the rugby crowt™Sremsis B /344 to

8 A World War

———— Vve gof

the power |
Toeqve | Euzeerv i
ot the power! P° : - .
9 J/ Puff = -
C % - A

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




The best ways to
do sums like 82 - 57 is:
Add 3 to 57 to reach 60.
82 - 60 = 22.

Find the difference between 70 and 4
Subtract 14 from 60

Take 33 from 140
ngve 32 from 71

Subtract 27 from 86

Take 45 from 90

Remove 8 from 130

Reduce 250 by 44




—
—
N
o
|
(3]
IS
[}

O 00 N O 01 AW DN

For review purposes onl
t 6 p.m., the temperalure droppedioy egliees, rom 40 to degreey

class of 30 had 4 absentees. Only children were at school. (D,
. .

Friday, 36 of our 83 Year 6 students were at Hooptime, leaving

N

fl 22 of its 130 garments. garments weregept,

8 From4pm. T @ﬁd fprall byt 14 minute;‘;
9  The show jumper losT Réggendti du@ae

The average rain for May is 77 mm, but we were 48 mm short, only receiving mm

minutes.

points.

for the month.

5 7 i

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8



Unit O Suleragtion:

Suttracti"g Powers of

When subtracting
humbers hear powers
of 10, like 9, (f, 99, 103,

998 or 1002, round

97 -9 =

Fonreuiew pﬁrpos -
®

Se: E

1 Subtract 9 from 75

2 Take 11 from 83

N
Remove 99 from 235

D
Z/ @ié :Ee between 732 366(,\

7 Take 104 from 946 =

ce338by 98 ___

8 Remove 999 from 1075
9  Reduce 1288 by 998

10 Find the difference between 2222 and 1001




% oA 1 1003 - 999 =
184 - 101 =
|

2 2 1113 -999 =
3 227-101= . 3 1348 - 999 =
398 - 101 = D -

4 1537 - 998 =

5

6

7

8 8 336 =
9 4185-1%
10 4848 - 100

For’réyiev purposes on

@7, the inventor of TV would have turned 99. Logie Baird was born in
2

9, Captain Cook would have been 101. He was born in : .\\

Alexander Bell, inventor of the telephone, would have turned 98. H@‘

K\

6 adman would have turned 102. He was born in
7 Wuld have turned 101. Ford was born in
8 ‘ @f;
9

10

2002, a palindromic year, was 1001 years after the palindromic year of

Ol come ,
back hel€:

NSW: Number NS3.2; Qld: Number concepts N4.2;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




There is no substitute
for knowing your tables—
they are so important.

With their assistanceg8u 60 + 12 = D
will be able to€arn (\ = D
fractions, pepfenta 4 4x11=
and, eventygflly, a . 5 10x3= D
Take cardlto lear ‘
‘ 6 7x7-= .
well anaffemerfioerfio Use 7
the tegts dWSibility, 7 12x5=
. . 8 99
whichjoullll findlon page 8 3x4=
+ of ok . 9
9

FC

Divide 72 by 12

Find the product of 8 and 11

How many 7s go into 637
ly 3 by 7

)«1’ .
y ' roEofi can Ee; %{@Q\

7  Find the quotient of 360 and 6

30 groups of 8 equal
Split 720 into 12 equal groups
Find the product of 2 and 3 and 70
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' |
. u[enr[cgeujloesiMesntMHigaﬁrgaﬁbuso n y
@scouts raised $240 among them, an average of $ each. (U

r school has seven grades from Years 4 to 6, with 30 students per class:

7 $8.00 in 20

Red mahooan
‘\’able3 J

A 50-year-old has lived for montns. K

/7 days.
0 % Is coins altogeth‘
A grid of 50 lines and oluE\du@a

A 100 m x 70 m paddock has an area of square metres

T W
NSW: Number NS3.2; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




Unit 7 Multt?ltcatcon.

Mutipl)

When we multiply a
number by 10, 100,
1000, etc., we shift the
number to the left

Multiply these Multiply these

numbers by 100.

numbers by 10.

chart. The sizg
shift is detg
the numbef of z 870
0.4

1.5

23.7

Fonseview pukg és
®

63\ E‘

Find the product of 23 and 100

¥~ 2  Eighty times one thousand equals

100 groups of 98 equals __
@Uhl ly3.7by10
w@ oduct of 4.59 and 100

7  Zero point three tinee

8 1000 groups of 1.8 equals
9  Multiply 245.7 by 10

10 100 groups of 3.03 equals




What is 1000 times
bigger than:

Set €

JOr review purposes

Being paid eleven $100 notes for a job means the job cost $ :

ance of 4.1 km ridden 100 times will equal km.

@9.8 kilograms 100 times you have lifted kg altogether.
Di timber 1.3 metres long equals millimetres.

5 A tuls o:

6 A dog w8ighi ijograms weighs grams.

holding 5.6 litres equals millilitres.

) . =
7 A line that is @72 n be said to be N
8 1000 lollies, each weigMmg. 5.6 %W& In weight.
9 100 pieces of cardboard, each 0.3 mm thick, will stack to mm in height.

One hundred 10 cent coins equals $ .

NSW: Number NS3.2; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




Unit 8 Multip hcatton.

es‘tma‘t' Q

et ‘
To solve the problem then multiply.

Round and
(Se't B then multiply.

of 387 x 42 mentally is 9x6
extremely difficult and, 3 | 1 S51x77
for most people, * 2 3 x 89
impossible. By (\ x 12 - e
. v 49 1
rounding thgfsum t 73x9 : ?
4 76
400 x 40 ge can 48 x 5 X
close apgroxima 2
(6 000 for t 88 x 8

54 x 3

VO 00 N o0 g b

For ec S on in this
unit §f Wark, rBund and 34 x 11
thefll multip™o get an 66 x 4

estimate.
92 x7

FC -

Round the product of 37 and 5
Round 76 and multiply it by 8

Round 58 x 19

8, when rounded, equals _____

EZH bE in the roun

7  How many zeros will be in the rounded product of 127 and 567

508

#huct of 788 and 347?

How many zeros will be in the rounded product of 357 and 8377
How many zeros will be in the rounded product of 2334 and 877

How many zeros will be in the rounded product of 2334 and 5877




Round ang

then multiply, Round and
then multiply.

238 x 68
2 721x82
448 x 32

9

433 x 48

10 922 x96

' For-review purposes-only-

Average numbers of voters in 8 el . Total voters:

5 rage wage per week: $277. Wage in a fortnight: . (D’
Avggage wage per week: $277. Wage in a month: \\
ée wage per week: $277. Wage in a year: .{D'
: tters collected per day: 33 489. Letters per week: g\'
S sgold per day: 472. Papers sold per week: ?0
- er day: 472. Papers sold per gon
3 Eouycat™

d . Rain per year:

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8




3K Unit 9

Division: Dividing with rengindels

Give the remainder Set R
¢ as a whole number.
When you know your What will the remainders

tables and tests for

divisibility well, working t b
. ded by 57
out remainders ment
is quite easygror
example, humbg€rs in t f
O times tgble e 58 = 11 @78

be as whole numbers
when these numbers are

31+ 10

(3 ))

!'A

4
5
either S gf O; 2 6
must givgl a re r of 6 23=+7 ,
2,% of 0 ding 7 87+2 5 4
8 6
9 7

B n
on hy I@ to be
exp d.

FOnkevieW puEpeses 90$i|
@ Express the remainders as decimals. .
=

Se‘tE 7 1 33+10___

wl T maegmos (D
)

of 4he rem ander .

/)273 T QO
% -1‘%. o 44??

8 77 =5
9 35+4
46 + 8 ﬁ—\

10 3 B




Express the remainders

Set c as fractions.

79 = 11 Express the .

remainders as 3 66 + 8
35+3 sctions in 4 78 +10
88 +5

lllllll

fllor review purposes;

+ 10 gives a remainder of 0.2.
e biggest remainder possible when dividing by 6.

2

3 A\ €pfainder of % is the same as %

4 nding in 3, when divided by 5, will have a remainder of 3.
5 NumBgr§ enGling in 3, when divided by 10, will have a remainder of 3

) )
7 The remainder: me. \O
8 Even numbers, when divitheg by™a duc, a& baw® 2 remainder.

9 Odd numbers, when divided by an even number, must have a remainder.

.
6 Numbers | '/szhen divided by 7, will have a remainder ofv
T X\

Odd numbers, when divided by an odd number, will not have a remainder.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




Because division is the
opposite of multiplication,
dividing by a power of ten
is the opposite of

Divide these npumb Divide these numbers by 10.

9.92 + 100
97.3 + 1000
2.2 + 1000

10 0.4 +1000



Divide these Divide these
Numbers by 100 numbers by 1000.

1 3000
2 6000
3 8000

11 000

-
urposes.only

2 A 78 cm line is also m long

A 222 m piece of stringisalso l\ﬁ‘&

A 3775 m long road is also

A 250 mL drink contains

A 50 mL egg cup is also

A 775 g book also weighs g.

Ediisanes

(C %
N&n
X

&

kg.

({

lar. True or false?

144 years equals 1.44 decades. True or false?

<

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Mental computation and estimation 4.1; WA: Number N4.3; SA: Number 3.8




K Unit 11

Mul‘ti(’les shd Somfop nulti?les

6 Which is the wrong
Multiples are very et multiple in these sets?

similar to tables. 733 8,12 .
The fifth multiple of 7 is Zh t
35 because S x 7 = 38
A common multiplegt two ( g‘?. 111, 44
numbers will bgffound

both their #8 le
examplgl a com

multip of @

is

Set B

Find the 8th multiple of:

1 7 D

D

22,18, 36,72

f é
12
18, 45, 59, 63 ﬁ

4
5
6 24,66,72, 144
7
8
9

N

> afl
0\ |
gt
30, 81, 50, 90 4 D

Fomreview plikpeses-only

‘) Answer ‘true’ or 'false’. ~ m
‘ 1 Multiples of 7 are always odd. (Dr

Se: k&
Multiples of 3 have their digits summing to a multiple of 3%

O: Multiples of 9 have their digits summing to a multlple@

34, 16, 88, 48

16, 28, 36, 42

9,21, 35, 49

6
7
8
9

s of 9 have their digits summing to a multi
E ir digits summ“@

7  Multiples of 15 always end in 5s.

u|

6 l\/Iultlp of 20

8  The 30th multiple of 30 is 90.
9  Multiples of 8 are even.

10  Multiples of 11 can be either even or odd.




o Find the
What is the 20th multiple of: e multiple

it

1 4? The 20%h 1 3and4 D
2 n malkiple is.. 2 4andb D
3 11? ~ 3 2and7? D
4 6? pu L 3and 9 D
5 1)
2?2
7
?
0 ?
0 207

they flash together again if they flash every

ForTeview.pu rpoXs /}0 °
@ and & minutes? )

o o A~ W

8

gd 8 minutes? ___ / J// §

d 8 minutes? \x’k
N

%minutes" - °7 ’ %@
9 and /7@7 ?‘ ° 0
3 and 8 minuteX Educ \O o

7 and 3 minutes?
10 and 15 minutes? 0 o the “3\.)1—.1\/

5 and 15 minutes? o

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Number patterns and relationships 4.2; WA: Number N4.3; SA: Number 3.8



Unit 12 Division:
ofpop Tacters

Which numbers have
the following factors?

A number's factors
divide exactly into the

nhumber without a
remainder. The factorggé
‘ nel 5
and 1

4
5 2,14,7 and 1
: 6 11and1
a\mo’n 7 5,3,15and 1
0 8
9

highe
&

17 and 1

4,12, 2,3, 6 and 1

20,4,1,5,2and 10

1and 10
2and 8 __
6and 9
10 and 20 _____

numbers? ,7
6 9
'° ) 8and 20

7 and 12
9 14 and 20

10 30 and 60




Wh7t is the second
Smallest facto h
r of:
H . How many factors do the
nice following numbers have?

common

Answer ‘true’ or ‘false’.
i review, purposes ond
@ a factor of every number bigger than 3.

s a factor of every even number.
nd. 4 are factors of every number in the 12 times table.

; e@zmber is a factor of itself. @
ave an even number of factors. 0

W

o factors are called prime numbers.
8  The 3rd factor®

9 7and 14 are facofu Ca{\o

1 has just 1 factor. "

W e ]

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Number patterns and relationships 4.2; WA: Number N4.3; SA: Number 3.8




:a"‘:l 1‘;¢>r‘§’\b§5i‘t95;€5

followin
g numbers 3 :
prime or commne - re State whether the following numbers

A prime number, like
the number 7, has only
two factors. Composite

~ahl
humbers have more thg
two factors. The pufnber (\g\
{ has only one fdttor 4

is neither g imeQ s

are prime or composite.

1 3

)

O \

6
\
. 9
comgposite.
11

ot i |::
7 2_ 33
(‘ ,P 8 13 37

2 15 41

_

10, 19

Fonreview purpos
@

r
| &

8000\]0\01-&
&b
\I

1 67

‘\
et
127

WhichS®wQq
primes g
either sidé

4 /;n
.
W,
6 AN
7 582
8 637
9 707
10 88?

by



What is the
closest prime
number to:

2 87 How many prime numbers
P can be found from:
”
3 227 . 0-97 D
9
4 147 ., 10-197 D
5
6

1

5

~ ||
il Feview
@ is the first prime.
3 n numbers after 2 are composite.
4 iIme has more than two factors.

]
@

POSEeS

W)

2 is the only even prime.

#gphes of a prime are composite.

Eduoa‘\o

21 is a prime n

posite number.
‘s .
O,

39 is a composite number.
P S m\‘

9 is a prime number.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Numbers, counting and numeration 4.2; WA: Number N4.3; SA: Number 3.8




A number multiplied by
itself gives a perfect
square, e.g. 9 (3 x 3).




Set €

Square the following numbers.

1 10

&Br review purposes onk

An 8 x 8 chessboard has sixty-four son it

4 x 4 grid will contain 8 squares.

T square root of 8 is not a whole number.

'a
ared equals 10 squared plus 1 squared. ‘\%

equals 2 squared, doubled.

X
\e e o ?g@
i in 49 squares. 0
8  Asquare conta "-Edﬂ @&t\g s of 3 units.

9  5squared equals a half o

3 squared plus 4 squared equals 5 squared.

NSW: Number NS3.3; Qld: Number concepts N4.3;
Vic: Numbers, counting and numeration 4.2; WA: Number N4.3; SA: Number 3.8




Set R What is the value of the 5 in:

Because our
humeration system is
based on the number 10, a
place-value chart showipg
units, tens, hundr gl of

What is the 7 worthdia
1 235.8?

2

_

2.99?

285.9
ones, followgl
thousands, mijfons 4 238 971 117
a great helgfwhen 5 7224995 5 25 ?
with glace dalue ti 6 2115897 6 5448.63?
and rafin mg
valucl p[ace 7 71345692 7 562998 2
valug ch age 4 8 11879440 8 5888934.98
offithis book, when 9 730408 238 9  15223.992

: SWG%GF revléw 10 231 68.8 v-

o ©
.\
Set E . .
1  eight hundred and five

How man§zeroggs#fe in 2 nine thousand and twenty N&

the following n @r s?

3 thirteen thousand

g

‘?‘Q g,

=N |xty six thousand ____

7
1 @vntho sand and se“
O ‘ i

7 two million

8 ninety million and five
9  eight hundred million

10 one billion

OOO 0 O




Answers

Unit 1 The history of numeration: Conzn numerzls

Set A Set B Set C Set D SetE Set F

1 3 1 U 1 103 1 Dl 1 30 1 true
2 4 2 v 2 122 2 DXV 2 84 2 true
37 3 LXvil 3 135 3 DLV 3 32 3 false
4 9 4 LXXIl 4 144 4 DCXIlI 4 12 4 false
5 12 5 5 B 5 5 false
6 15 6 6 6 6 true
7 19 7 7 true
8 33 8 8 8 true
9 40 9 9 false
10 47 J 10 10 true

nit 2 Addition: Adding Z’digi't nunber

Set D Set E Q

Set C 3
1 70 1 81 1 70
2 40 2 63 2 80
3 90 3 71 3 94
4 70 4 75 4 45
5 90 5 74 5 90
6 80 6 6 62
7 80 7 7 91
8 80 8 8 90
9 9 9 71
0 0 0

v

1 1 126 1 118 1 1037 1 321
2 2 174 2 133 2 1063 2 422
3 3 427 3 148 3 1094 3 875
4 4 651 4 169 4 1212 4 442
5 5 838 5 184 5 1401 5 533
6 6 135 6 484 6 2262 6 1998
7 7 186 7 331 7 4826 7 256
8 235 8 180 8 1048 8 5330
9 O 61 9 186 9 1720 9 1887
10 0 % 10 348 10 4228 10 no

I -8 hac ion; Subtractin “@We
Set A et EduI@é Set F
173 1 44 1 66 122
2 42 2 38 2 1 4 2 46 2 29
3 34 3 14 3 115 3 25 3 107 3 26
4 65 4 19 4 109 4 57 4 39 4 47
5 81 5 53 5 215 5 29 5 48 5 $45
6 58 6 42 6 224 6 37 6 18 6 77
7 23 7 16 7 257 7 58 7 59 7 108
8 32 8 14 8 312 8 26 8 45 8 46
9 45 9 58 9 438 9 64 9 122 9 156
10 64 10 13 10 541 10 19 10 206 10 29

Mighty Mentals Book D/Macmillan Education Australia
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Answers

Unit O Subtraction: Suttracting powers of 10
Set A Set B Set C Set D Set E Set F

15 113 1 46 14 1 66 1 1965
2 12 2 49 2 83 2 114 2 72 2 1968
3 28 3 77 3 126 3 349 3 136 3 1888
4 31 4 96 4 297 4 539 4 240 4 1728
5 45 5 5 34 5 5 1847
6 57 6 6 6 1908
7 63 7 7 1863
8 79 8 8 1788
9 82 9 9 1066
10 88 10 0 1001

nit O Multiplicstion and divisien facts
Set C Set D Set E Q

1 180 1 80 16 630
8 2 320 2 40 2 88
5 3 140 3 70 39
49 4 990 4 40 4 21
59 5 400 5 90 58
6 3 6 360 6 40 6 250
76 7 600 7 30 7 60
8 9 8 600 8 110 8 240
9 12 9 4500 9 70 9 60
10 7 0 13200 10 70

N "V oV Ja\VIVaANWVY VYEE YRR ] '-'A'-'g'--n"-llv_

¥ | W
)] l li ation: gryu "_ b POWE ot710

Sel A Set B Set C Set D SetE Set F
1 300 1 2000 1 870 1 2300

2 2 6000 2 87000 2 80000

3 3 11000 3 8700 3 9800

4 4 38000 4 870 4 37

5 5 90000 5 8700 5 459

6 6 128000 6 87 6 5600

7 7 80 7 87 7 30

8 8 127 8 8.7 8 1800

9 9 1500 9 870 9 2457

10 10 4870 10 8.7 10 303

Set A Set F
1 180 1 1 1 36000
2 240 2 2700 2 B 2 640 2 640000
3 840 3 1000 3 4000 3 12000 3 1200 3 $600
4 630 4 4800 4 4500 4 24000 4 7200 4 $1200
5 250 5 3500 5 2100 5 8000 52 5 $15 000
6 720 6 7200 6 3600 6 5000 6 3 6 210000
7 150 7 2800 7 3600 7 81000 7 3 7 3500
8 330 8 3200 8 4000 8 12000 8 4 8 15000
9 280 9 1000 9 2400 9 20000 9 4 9 330 mm
10 630 10 2000 10 900 10 90000 10 5 10 4400 mm

Mighty Mentals Book D/Macmillan Education Australia




@’ ror Answers

Unit 9 Divisien: Dividing with rensinders

Set A Set B Set C Set D Set E Set F

11 12 1+ 1+ 103 1 true
22 21 2 % 2 2 2 05 2 false
36 33 32 3+ 3 06 3 true
4 1 4 4 4 % 4 % 4 0.25 4 true
53 5 4 5 > 5 5 true
6 2 6 0 6 % 6 6 false
7 1 7 4 1 7 false
8 2 8 0 8 + 8 false
9 4 9 i 9 true
10 3 B 10 + 10 false

wn
®

~+
(@]

nit 10 Division: Dividing by pewers of
Set D Set E Q

O N W

13 1

2 6 2 3.

38 3 0 .
0.26 23 4 1 4 0.048 7
0.77 . 5 47 5 0.48
1.48 8.55 6 5.6 6 0.871 .
3.35 7 7
24.43 8 8 .
0.376 9 9

0 10

3.34
1.182
0.374

@ ¥
4
5
6
7
8
9

NV ONOUTA WN=
SN
~
u

| |
-
o

—rm
WAVISIRVLY

v

1% 1 1 1 1
2 2 88 2 140 2 2
3 3 40 3 220 3 3
4 4 96 4 120 4 4
5 5 48 5 160 5 5
6 6 24 6 40 6 6
7 7 80 7 200 7 7
8 64 8 180 8 8
9 O 9 240 9 9
10 O ' Y 10 400 10 24 10 true

e, f}m gctors &nd co{\am(\
Set A ulga Set F
1 13 11,236 11 1 true
2 16 2 1,24 2 2 2 2 false
35 31,7 3 17 32 33 3 true
4 2 4 1,2,510 4 3 4 2 4 10 4 true
5 14 51,2438 5 3 5 4 5 4 5 true
6 11 6 1,2,4,8,16 6 19 6 2 6 3 6 false
7 15 7 1,525 7 23 7 2 7 4 7 true
8 17 8 1,3 8 13 8 4 8 1 8 true
9 12 9 1,329 9 2 93 9 2 9 true
10 20 10 1,3,11,33 10 2 10 2 10 30 10 true

Mighty Mentals Book D/Macmillan Education Australia ]



Answers ”@(\E FiaHs R V?‘f;b

Unit 13 Prines and Genmpesites

Set A Set B Set C Set D SetE Set F

1 prime 1 prime 1 17 1 4 1 5and 7 1 true
2 prime 2 composite 27 2 4 2 11and 13 2 false
3 composite 3 composite 3 23 32 3 17 and 19 3 true
4 composite 4 prime 4 13 4 2 4 23 and 29 4 false
5 composite 5 prime 5 5 31and 37 5 true
6 prime 6 composite 5 2 6 43 and 47 6 true
7 composite 7 prime 7 2 7 false
8 prime 8 opri 3 8 false
9 composite 9 2 9 false

10 prime 1 10 true

n
o

~+
>

1 yes 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8

0

wn

Set B

1 1 5ones 1 10 times bigger 1 80 11
2 2 5 hundreds 2 100 times bigger 2 890 22
3 3 5ones 3 100 times bigger 3 22850 33
4 4 50 thousand 4 10 times bigger 4 22800 4 3
5 5 5 thousand 5 100 times bigger 5 23000 53
6 6 5 thousand 6 1000 times bigger 6 20000 65
7 7 500 thousand 7 1000 times bigger 7 274560 7 6
8 5 million 8 10000 times bigger 8 274600 8

9 bthousand 9 100 000 times bigger 9 275000 9

10 700 thousand 10 100 000 times bigger 10 270000

(%]
(]

-+
>
(%]
0]

=
or]

e

1% 12 15 123
2 4 2 ¢ 2 1+ 4 2 3% 29
35 3% 313 3 2 3% 3 5%
4 5 4 % 4 3% 4 % 4 5 4 3
5 & 5 % 5 2% 5% 5 10 5 sixth
6 R 6 % 6 1% 6 B 6 3+ 6 fifth
7 % 7 % 7 2% 7 & 7 40 7 fortieth
8 & 8 4 8 5% 8 8 1 8 L
9 & 9 % 9 5% 9 Z 9 2 9 2
10 % 10 4 10 7% 10 ¥ 10 1+ 10 20th

Mighty Mentals Book D/Macmillan Education Australia



Decimal Bounce

/
)

Answers

Unit 17 Fractions: Addition end subtraction

1

2

3 undredt

4

5

6

7 BNQ

8 3 ten tha s

9 3 hundred

10 3 tenths

Set A Set B
1 09 1 04
2 14 2 06
315 3 08
4 1.7 4 0.1
5 1.2 5 0.44
6 0.48 6 0.46
7 0.96 7 0.65
8 0.83 8 0.68
9 0.84 9 0.18
10 0.88 10 0.05

"l ‘a
v

SNJU

—

(4

Set A Set B Set C Set D S
14 11 1% 1% 1
2 3 2 1 2 % 2 2
3 % 3% 37 37 3
4 % 4% 4 % 4 % 4
5 % 5% 5 2 5
6 5 6 2 6t 6
7 % 72 4

L raght

o 3 94 ¥

10 % . 10 3

Set A

OVOoONOCUTAE,WN-=-

o

-+
m

S N N e

VYaVYaVaVYaoalWalal lv_

wn
D

-+
m

0 3 akw N @ oo s

o

27 days

Set D Set E
1 10 times 1 23 1 23.6 1 5.17
2 100 times 2 19 2 28 2 0.75
3 1000 times 37 3 09 3 11.28
4 100 times 4 20 4 0.1 4 77.83
5 1000 times 52 5 1.1 5 1.01
6 10 times 6 1 6 222.6 6 1.99
7 1000 times 7 2 7 2225 7 1.00
8 10 times 8 1 8 223.0 8 10.91 B false
9 10000 times 9 9 9 222.1 9 10465 9 false
100 000 times 10 10 10 2229 Ov 0 10 true
. -~
: Additien and{\tw
Set F
1 0.41 1 55cm
2 0. ' 2 0.66 2 80 cents
3 0.77 3 04 3 0.77 3 2.1
4 0.15 4 0.02 4 0.85 4 0.67
5 0.06 5 0.09 5 0.86 5 2.15
6 0.01 6 0.45 6 0.15 6 0.13
7 0.875 7 0.025 7 1 7 601
8 0.112 8 0.889 8 0.045 8 302
9 0.545 9 0.544 9 0.94 9 3.8
10 0.011 10 0.693 10 0.444 10 6.2

Mighty Mentals Book D/Macmillan Education Australia



Answers )

Unit 21 fraetions, decingls and percentages

Set A Set B Set C Set D Set E Set F

1 27% 1 50% 1% 1 30% 1 0.11 1 25%
2 42% 2 25% 2 5 2 80% 2 038 2 25%
3 76% 3 125% 3+ 3 20% 3 0.17 3 70%
4 39% 4 37.5% 4 4 50% 4 028 4 80%
5 98% 5 75% 5% 09 5 0.6 5 $0.85
6 7% 6 100% 3 6 6 15%
7 2% 7 62.5% = 7 95.5%
8 8% 8 25% 8 8 66%
9 4% 9 508 9 9 5%

10 9% 1048 10 24%

nit 22 Percentsges of an anount

Set A Set C Set D Set E
1 19 1 1
2 2 27 2 2
3 3 36 3 3
4 4 54 4 4
5 5 72 5 5
6 6 90 6 6
7 7 7 7
8 8 8 8
9 9 9 9
0 0 0 0

OvMoONOCCURA_~WN-=-
OvVvVoOoONOCCUUR_~WN-=
OvMoOoNOCCUuPA~,WN=

Y
-
—
N
~
N

Unit pegineter: €Conversions*s
Set A SetB cEd S «Ga&\ Set F
1 400 14 u 113
2 1300 2 6 2 2 36 2 19
3 7800 3 13 3 27 3 2.458 35 3 190
4 88 900 4 28 4 2.778 4 8.92 4 3 4 4500
5 250 5 3.73 5 8.656 5 99 5 27 5 03
6 328 6 2.7 6 3.32 6 0.187 6 05 6 55
7 493 7 1.1 7 1.2 7 0.848 7 5 7 0.55
8 506 8 0.9 8 0.873 8 0.111 8 6.5 8 272
9 88 9 0.32 9 0.028 9 0.044 9 105 9 18
10 10 10 0.08 10 0.004 10 0.003 10 81.6 10 6000

Mighty Mentals Book D/Macmillan Education Australia



Answers

Unit 25 Ares: Concept and spplication

Set A Set B Set C SetD Set E Set F
1 50 square centimetres 1 60 square metres 1 6 square metres 1 27 square metres 1 true 1 20
2 90 square centimetres 2 110 square metres 2 9 square metres 2 56 square metres 2 false 2 double
3 85 square centimetres 3 22 square metres 3 7.5 square metres 3 12m 3 true 3 double
4 17 square centimetres 4 35m 4 12 square metres 4 20m 4 false 4 4
5 47 square centimetres 5 75m geequare 8 5 true 5 10%
6 400 square centimetres 6 16.5 sq metres 6 true 6 50%
7 2300 square centimetres 7 qu etres 7 false 7 4
8 880 square centimetres 308G uaf@metres 8 false 8 5
9 253 square centimetre 1238qu etre Q false 9 8
10 5100 square centi 700 square metres 10

Unit 20 Mass: Units and eenversions

Set C Set D Set E 3
83 1 1800 1 1200 1 9000 g
373 2 2200 2 55 2 1kg
9.724 3 3700 3 2250 3 2.1kg .
4 8.302 4 8800 4 2.333 4 05kg
5 8.893 5 3270 5 3505 5 58kg
6 9.223 6 7{350 6 2300 6 1t
7 7.003 7 2884 7 1.7 7 990 kg
8 3.04 8 3887 8 2900 8 3000 kg
9 5.1 9 11777 9 8.275 9 5105 kg
10 2.5 m 10 23799 0 9008 10 5.78t

v

A Set B Set C Set D Set E Set F

1 1 2.348 1 100 1 0.5mL
2 2 8.359 2 200 2 5mL

3 3 12.938 3 500 3 50mL
4 4 84.204 4 160 4 05L

5 5 0.386 5 1000 5 550 mL
6 6 0.998 6 10000 6 0.5551L
7 7 0.028 7 1080 7 5L

8 8 0.094 8 8700 8 5005 mL
9 9 0.03 9 22 9

10 10 0.003 10 130 10

Set A 5 Set F
1 5 minutes to 3 1 5 minutes 1 true 1 20 minutes to 6
2 17 minutes to 8 2 25 minutes U 05/ a.m. 2 true 2 05:40
3 26 minutes to 12 3 60 minutes 3 8 hours 3 5:33 p.m. 3 true 3 7:10
4 27 minutes past 9 4 180 minutes 4 7 hours 4 10:49 p.m. 4 false 4 55
5 17 minutes past 1 5 50 minutes 5 21 hours 5 12:00 p.m. 5 true 5 80
6 7:53 6 240 minutes 6 5 hours 6 12:00 a.m. 6 false 6 128
7 4:42 7 600 minutes 7 4 hours 7 1:10 am. 7 true 7 12:23
8 6:22 8 720 minutes 8 13 hours 8 8:02 p.m. 8 true 8 2
9 10:04 9 125 minutes 9 5 hours 9 12:22 a.m. 9 false 9 2:23
10 4:32 10 185 minutes 10 18 hours 10 11:59 p.m. 10 false 10 22 minutes to 4

Mighty Mentals Book D/Macmillan Education Australia
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Answers

Unit 29 Money: Anounts and the four operstions

Set A Set B Set C Set D Set E Set F
1 3 coins 1 $1.10 1 15 cents 1 80 cents 1 6 cents 1 $50.00, $50.00, $10.00
2 4 coins 2 $1.70 2 25 cents 2 $1.50 2 5 cents 2 $102.50
3 4 coins 3 $2.05 3 65 cents 3 $1.50 3 60 cents 3 $90.50
4 4 coins 4 $2.35 4 85 cents 4 $5.50 4 70 cents 4 $80.00
5 1 note and 2 coins 5 $5.50 5 5 $1.12 5 $50.00, $20.00, $10.00
6 1 note and 3 coins 6 g 6 $64.00
7 1 note and 5 coins 7 7 $50.00
8 1 note and 2 coins 8 8 $30.00
9 2 notes and 4 coins 9 R $21.00
10 1 note and 4 coing 5.00

Unit 30 Directions and zngles

Set C Set D Set E
1 acute 1 acute 1 east 6
T 2 right 2 right 2 east
2 3 obtuse 3 obtuse 3 north
4 4 acute 4 acute 4 north
5 % 5 obtuse 5 acute 5 north-east
6 % 6 right 6 obtuse 6 south-west
7 % 7 acute 7 right 7 north-west
8 % 8 obtuse 8 acute 8 south-east
9 1 9 acute 9 obtuse 9 north-east
1 10 2 m 10 right 10 obtuse 10 north-west

Sel A Set B Set C Set D SetE Set F
1 R6 1 unlikely 1 50/50 135 1 50%
2 ) 2 unlikely 2 red card 2 4 2 25%
3 3 50/50 3 numbered card 3 3 3 25%
4 4 likely 4 50/50 4 4 4 50%
5 5 unlikely 5 black card 53 5 25%
6 6 unlikely 6 5 6 % 6 25%
7 7 likely 7 50/50 7 5 7 0%
8 unlikely 8 50/50 8 & 8 50%
9 Q i 9 heart 9 3 9 50%
10 ; 10 club 10 10 0%
Cevision: All s ?(Q(\
dueat
1 65 1 56 30 and 60 1 3.475
2 70 2 no 2 33 2 N 2 63
3 2973 3 prime number 319 3 386 32 3 $5.60
4 19 4 144 4 23 4 49 49 4 volume
5 8314 5 3 million 5 2800 5 2346 5 240000 5 south-west
6 56 6 2% 6 0.444 6 16000 6 % 6 20 minutes
7 18000 7 + 7 5:45 7 108 7 0.07 7 1800
8 2700 8 0.09 8 $2.70 8 3% 8 30 8 2 ten-thousandths
9 5% 9 5thousandths 9 acute 9 40 9 0.11 9 6
10 40 10 0.73 10 5 10 1and3 10 0.378 10 100%

Mighty Mentals Book D/Macmillan Education Australia



| 1 33 Round each number to the

-
Set c 323 nearest number given in brackets.
H.OW many times T 1 76 (10)
bigger is the first 3 2383
than the second 3 894 (10)
in the foHowing 283.3 22 848 (10)

numbers?

Of B FW N

Set f

-0 TéUiew.purposes only

e biggest 4-digit number is ten thousand.
smallest 4-digit number is ten thousand.

is 100 times smaller than five hundred.

4
5

6

s
7 998 is Thg ¢ gest 3-digit number.
. (\

8 Educal\C
0 - a
10 99 999 is one less than a million.

NSW: Number NS3.1; Qld: Number concepts N4.1;
Vic: Numbers, counting and numeration 4.1; WA: Number N4.1a; SA: Number 3.6




P& Unit 16 FraStions:
E‘L"a“ty’ 5""?‘35* forn &nd ni%ed nunbels

e't
15 3 S A
Convert these fractions

3
% = 9o because 4 %
h " Set B into simplest form

as been multiplied
by % , Which is a h
fractional name fgr”. \
( What" A8 goiy

=l

‘g'he simplest glame f 11 we. want z 28 D
20 I8 4 bggause : D
the sma st S §=13 .
values 6 £=1 EQMM\‘{&) 5 2_1? il‘ k‘
a gncu 7 %= 0‘// 6 18 .
becBus@third§ means 7 _ 84 ‘

8§ & =% 7 2
divi y 3. 1: «Z@ 70 E

T =T . 8 2

_ 9 3‘ 24

F - S pnl

N
N

1 How many quarters in one and a quarter?
2  Change 11 thirds to a mixed number.

Two thirds equals how many ninths?

Wlfy ten fourteenths.
Eq three and a
Change e

7  Five eighths equals

-
~)
E

8  Simplify ten thirtieths.
9 Two and a tenth equals tenths.

10 Convert seven sixths into a mixed number.




S
2
2 3
Change these
into mixed 3 g Change
numbers. 1 these into
4 3 improper
fractions.
23
S o
14
6 3
7

0L review.purposes..only

k played four-and-a-half games of soccer,or ___ halves of soccer.

played 23 quarters of netball for the Swifts or games for the Swi@

@e six eighths, or , of the pizza. (D'
A ished 11th in a field of 66 runners. She finished in the top &&h 5t the field.

of swimmers.

Caitlin cag i ) ini i th of athletes.

| spent $30 of%y

| still had

| weighed 40 kg and then put on 2 kg. | increased my weight by one
| desire the smallest FRACTIONS

s5 b\e values w ¥
oy ko oE

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.1; WA: Number N4.1b; SA: Number 3.7




Unit 17

Remember that a
fractional name for one
whole number has the
humerator and

denominator the gg

Fractions can b addﬂ(
and subtractgd
theg hay the SQ
mac 6 =‘
;s
o g
_ 9 L, g
; 10 2= % + % +
Fonrevictv pukpoeses el

@

Sct E

lo additiov... \LU
T

P ) \}és

—_— —_— —
|
NwN s|w

|
—_—
(@]

VO 00 N o

3 g .
8
b =
10 2-+4-= J@' 0 rd like o

n et

sfatemeny.




1 _
m 1 JE+ 3 D @
1,3
2 gt D Answer in simplest form.
Answer in 4 1= i l 7 3
dmplest 5 a The 1 g-%=
form. . subtraction  , 5_3.
1,2
5 142 D ot ’r\/\e 3 1.5 -
1
> 6 10 * 4 >
/ 7
8

@ed the first quarter and the second half of the game: ____

ate @ of a pizza, leaving

te of the same pizza, leaving

of the same pizza and % was left.

Tom

the same pizza, leaving slices.

e pizza had been eaten.

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.1, 4.2; WA: Number N4.1b; SA: Number 3.7




Unit 18 Frastions:
ions of gn amolNt

@ What is 1@ of:

When we find a fraction
of an amount, like % of
27, it means to split

400?
800?
1600?
80007?

80 000?
160 000?

8 000 000?

a8
\
What are 1.25 lots of:

v L
87 é\’

T




What is one-and-a-half lots of: @

What are 1.1 Iots of:

2 4: R 1102 [
4

Lo » [
6 o [
i ]

0r-Feview purpeses-only

One ninth of my $90 was spent on a book. | had $ left.

@quar‘cer of the team’s 88 goals were scored by the wing attack. She score.d\m

joals.
O nth of my 120 attempts at Battleships were strikes. ____ shots were m%
eS was 20 degrees. Today, 1.5 times hotter, was _____ degrees. \k
in September were cloudy. ____ days in September were Y,
tes. Joel ran for one fifth longer. He ran for
ran for ___ minutes.

aiicaisS

which is about months.

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.2; WA: Number N4.1b; SA: Number 3.7




Unit 19 Desinals:

velve and roundi"S

What is the 3 worth in
the following numbers?

How many times bigger is

Remember that
the first 6 than the second ¢?

decimal places,

which follow the
decimal point, deal
with tenths,
hundredths

253.777

18.243

0.7843
90.02143

Fonséyvieii purpos@n '

\

5.166

0752

Round & 778
decimal Bka

3 11283

77.833

//}0@} |

1.001

Leahos

9 10.550
,
10 10050 ___




c Round to the nearest | 'FQE‘
Se't whole number. Round to one

X whole, @
/j decimal place.
1 23.4 1 23.57 E
Q 2 2

18.5

W-eog

7.36

the following stateents true or false? g h
0.0 iQr[cimﬁgger LQCW£U rp0® @.
closerto3than2.
@ousand equals 8700.
.@way between 9 and 10.

d@nths is worth the same as 9 and thirty hundredths.

10
10 5=0.1=0.10.

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Numbers, counting and numeration 4.1; WA: Number N4.1a; SA: Number 3.7




Adding and subtracting
with decimals is no harder
than with whole numbers.

Just ensure that all 4

2+ 05 =

4 04+06+0.7-=

0.2+0.6+04=

0.15 + 0.33 =

0.74 + 0.22 =

0.5+ 0.33 =

0.24 + 0.6 =

018+02+05= | |

Find the sum of 0.3 and 0.11.
Subtract 0.1 from 0.76.

F

What is 0.32 and 0.68 altogether?
Find the difference between 1 and 0.955.
Combine 0.34, 0.5 and 0.1.

Take 0.333 from 0.777.




St €

What needs to 1
be added to
these numbers

Remove the following
decimals from 1.

to equal 17

2
3
4
5
6

Fok-review.purposes only

How much money equals $0.45 + $0.357 _

0.698 kg is

Travelling at 63.8 km '

km/h under 70 km/h.

SN O

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.2; WA: Number 4.1a; SA: Number 3.7

The speed found above is







Change into
Sct D 9
a percentage.

1 03

2 038

0.2

A

At three quarter time the game had % to go.

3 %, of our class are girls.

o) hs, or %, of the shots at goal were successful.
% ; dollar can be writtenas $ .
y A

5
6 ub is 2% or %, full.
7 | scored Q2.5 ths test out of 100, a percentage of ____
8 g—gonaspellt % E 00
9 19 of my 20 pencils n@ag{sharp dM_G&X‘SW :
10 I am 12. My dad is 50. | am ?5—0 o is age

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.1; WA: Number N4.1b; SA: Number 3.7




Fmd 20% of the
Find 10% of the followin
gn
L Set A following numbers. Umbers.
Finding percentages 1
of an amount uses basic

facts and division or
multiplication skillg




Find 5% of

the following

Find 90% of
the following

numbers.

%ﬁe review-purpoeses-enly

10% of Australia’s 20 million people live in south-east Queensland. This equals

<§> people.
% g@f the $400 | saved was spent on a CD. It cost $ .

the year has gone by at the end of

| have read 7 of the 50 booX
books.

| answered 90% of the 60 questions correctly. | only made mistakes.

NSW: Number NS3.4; Qld: Number concepts N4.1;
Vic: Mental computation and estimation 4.1; WA: Number N4.1b; SA: Number 3.7
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) x2x2x12-3=

3 x 3

Number strings are questions made up of many smaller pieces. Work left to right
to solve these challenging problems. However, remember to look for short cuts!

ake 10, triple Tt, s@otgdct
Take 60, halve it, halve it a
Take 9, add it to itself, subtract @Ive thiQanswer

Take 11, double it, double it again a 9

Take 100, halve it, halve it again and di\(é 5

Take 12, add 8, double it and then take a

Take 3, add 9, double the answer and divi&y 6
er

0 N O g B~ ow DN

Take 80, halve it, halve it again, triple the an

For feview-purposes only

9 T by 10, multiply by 5, and subtract 22
10 Tak ivi ivi
ake 50, divide by 10, add 9 and divide by 7.m
~_ NS
o O
the days in April, triple this, subtract 20 and add 5 &k

9

ars in a decade, halve this, and multiply by 6

eks‘in a year from 100, halve the answer and add

// ar, add 13, double this and su?tract
LD Eruea>
Take the years in a century™mig ; g nig 0 and double the answer left

Take the letters in the alphabet, add 14, halve this and triple the result

Start with a dozen, double it, double again, divide by 6 and add 10
Start with the wheels on a tricycle, triple this, triple again and minus 17

Take the seasons of the year, add 16, subtract 11 and take away 8




Y

©O OV 0O N o U p»A W N

-_

@12 from the square root of 144 __
le the square root of 9 __

10% of 80 + 20% of 100 §
1 Square 9 and take away

50% of 30, doubled

2 Square 6 and add 20 ___

25% of 44 + 25% 0Of 40
Square 10 and take 25

5% of 100 - 50% of 6 e SO double it
f, 1 and SMgtract 22
6
7
8
9

10% of 60 — 10%4

Squfre lve thiyesult

%

Square 12 and add 6

Square 5, nd ddble it again

Square 7 and s

the square root of 100

square root of 49

Divide the square root of 81 by 3

NSW: Number NS3.2, 3.3; Qld: Number concepts N4.2, 4.3;
Vic: Mental computation and estimation 4.2; WA: Number N4.3; SA: Number 3.8



Unit 2% Length and perineter:

nveps'ons and .ssc"é 6'de

Remember that

O mm=1{cm
0O0cm=1m
{000 m = { km.

Therefore
{ mm = 0O.|
fcm =

L ]

1 L=7mm W=5mm, P= mm

3 L=8mW= m, P =26m

~

g
2 L=10cm, W=8cm,P=____cm \
N7

length, L=6mm, W= ,P=18m

Eeiicas

7 L= mW=25m,P=15m

perimeter €
following rectd

. mW=55m,P=24m
mW=85m,P=38m

L=40mm, W=0.8mm, P =



Set €

3000 mm = m

-

9000 mm = m
27 000 mm = m
2778 mm = m

8656 mm
3320 mm
1200

NV 00 N o0 g B~ owWwDN

-
o

||
FOr.Teview. purposes o
@van 1.81 metres tall is cm short of 2 metres.
Is man is also mm short of 2 metres.
.5 km race is m long.

@m ruler is of a metre long.

Are you
the Yollest
WOMON (N
fhe wor\d?

J

A 2 m x 1 m rectangular table has a perimeter of mm.

NSW: Measurement MS3.2; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.3; WA: Measurement M4.1; SA: Measurement 3.5




with side lengths of:

Area deals with the @

space inside a boundary
or perimeter. The area
of a rectangle is workeg

out by multiplyinggthe (
length by thegfidth. h
This divide SQ
into squarg/millim
centimetges,
kilomegfes. A gle

@ofa

10 cm and 1.7 cm

10 cm and 4.7 cm

100 cm and 4 cm
100cmand 23 cm
100 cm and 88 cm

O 00 N O o>

100 cm and 2.53 cm
m1000 cm and 5.1 cm

Are the following statements true or false?

Find the area of a rectangle @

Forkeview purrosﬁsmmy”m

1 be measured in square millimetres.
2 etric measure of area.

3 square with sides of 100 metres.
4 S a%tnes equals 1 square metre.
: s

Is 1 square centimetre.
6  Triangles have only h3 ]a?ea Edue_a \
7 1000 square metres equals 1 square Rie
8  Classrooms should be measured in square centimetres.

9 A bedroom could have the area of 15 metres.

Countries have their areas measured in square kilometres.

Find the missing
dimension or area
for these rectangles.

A =75 square metre

W =10 n

= 920 square metres




Find the areas
Se‘t c of the following
triangles @ Find the missing dimensions

for the areas of these triangles.

1 Base=4m,Height=3m,Area=___
2 Base=6m, Height=3m,Area=______ 1 Base = 9 m, Height = 6 m, Area =
3 Base=5m, Height=3m, Area=___ 2 Base = 14 m, Height = 8 m, Area =
4 Base = 8 m, Height = 3 m, Arez Height = 10 m, Area = 60 square metres
5
6
7
8
9 Base 5m, Area =
10 ight=7m,Area=____

review p

My 10 m x 2 m vegie patch has an area of square metres.
@Abled its length, the patch’s area would in size. ~ CU

2 \\
3 I led the patch’s width, the patch’s area would in sizgf

4

5

6 of the patch by 1 metre, its area would incr %.

7  20% of the pat //é Jeigre metres are pi\OQ
8  25% of the patch are camgfs. u es ©

9 0.4 of the patch are potatoes. square metres are potatoes.

What fraction of the vegie patch has not been mentioned yet?

Ve o i e

T B

NSW: Measurement MS3.3; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.1; WA: Measurement M4.1; SA: Measurement 3.5



Convert the following
masses as directed.

(000 grams (g)
equals | kilogram (kg)
and 1000 kilograms

equals | tonne (t

et

1 9000 g or 1 kg

‘S” C 2 1kgor100.1g

v

2000 g or 2.1 kg

/))3

Circle .

greater mags. ///0.5 kg or 55 g
10

990 kg or 0.9 t
2.1 t or 3000 kg
5105 kg or 5.1t

5778 kg or 5.78 t




Convert the .
Se't c following masses. Combine the
following masses.

18kg=___ g 1 1kgand200g=__ 9

—_—

22t= kg » 5kgand500g=__ kg
37t=___ kg 2.2 kg and 50 g = g
88kg=___ g kg and 33 9 = kg

VO 00 N o0 g B~ oW DN

Bt eview purposes, only

@ difference between the two books is g.
is difference can be expressed as kg.

vier book weighs kg. —
@ter book weighs kg.
t i agon weighs 1695 kg, or t.

This weight can also be expressed as t.

e (€

NSW: Measurement MS3.4; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.1; WA: Measurement M4.1; SA: Measurement 3.5




Unit 27 Cavacity/ volUne:

Uhi‘ts and ConVerSiOns

1000 millilitres (mL)
equals | litre (L).

Volume refers to the

the leng ts in
d ghe units
ight &f the
x H).

1 L=10cm,D=5cm,H=2cm,V = cubic centimetres

(]
L=20cm,D=5cm, H=2cm, V = cubic centimetres\S
L=10cm, D=10cm, H=5cm, V= cubic centimetre @

rectangular prism

0cm D=4cm H=2cm, V= cubiccen

cubic centimetres

5
6
7
8 L=87cmD=10cm,H=10cm,V=____ cubic centimetres
9 L=512cm,D=2cm, H=2cm,V=____ cubic centimetres
0

L=612cm,D=2cm, H=10cm, V = cubic centimetres




Set €

1 0.774L= mL 1 2348mL=__ |

2 0.223L=___ mL 2 8359mL=__

3 0703L=__ mL 3 12938mL=__ |
4 0.806L=__ mL 84204 mL= |
5

6

7

8

9

10

T sl féwew wrpﬁses enlw

550 m O 5mL 50mL 55L 5L The water in the container weighs __

weighed _ g.

z 4 The container now held mL of water.

4 (\ 5  After drinking another 500 mL of water, |@ %
of its original capacity. 0
5
// After cooking, the water level was% 00 mL mark.
6 /e mL was used fOi
7 /7 & Xs eg#fCaving __ mL in the container.
8 e mL above the 5 litre mark.
9 My container then weighed kg.
10 | poured what was left into 1 litre bottles, needing

bottles to complete the job.

NSW: Measurement MS3.3; Qld: Measurement M4.1;
Vic: Measuring and estimating 4.1; WA: Measurement M4.1; SA: Measurement 3.5




Uni‘t 28 Time:

/ analogue SonvelsioNhs

We nheed to know that 3:35 and 25 minutes to 4 o'clock are two ways of saying the
same time. We should also khow tha o m. can be written in 24-hour time as 14:00.

[ ] ~
(
t oet B many Mijgutes from:
t :00 Qm.?

Change 1 11:55

these

digital 11:50 p.m. Q a.m¥

times to

analogue 11:00 a.m. to 1 w.?

and vice 5 Y

2

3

4 10:00 p.m. to 1:00 ?
5 11:45 a.m. to 12:35 M
6

versa. mlnutes to 8 o'clock

.
A =0 %g 0¢ 7 418 minutes to 5 o’clock
0 9:00 a.m. to 1:00 p.m.

8 22 minutes past 6 o’clock
2:00 a.m. to 12:00 p.m.?

0S€SOITY

10:05 a.m. to 12:10 p.m.?

4 minutes pasta10 o’clock

£ EeView pi

p

10  9:50 p.m. to 12:55 a.m.? &

l\ F

8
1 Perth time is behind Sydney time. 7

2 Adelaide is ahead of Perth time.

3 Melbourne is ahead of Adelaide time. 0@
ide tight.

™\

Set £

Answer ‘true

/

//jrlsbane is behind Perth time.
of both Perth wx
O, nd

7  6:40 a.m. and 6:40 p.m. are 12 hours apart.

or 'false’.

6

06:40 and 18:40 are 12 hours apart.

12:00 a.m. is noon.

12 p.m. is midnight.




(Se‘t c Convert to a.m.
or p.m. times. v

How many hours from:

1 11:00 to 15:007 - 6
2 05:00 to 13:00?
3 14:00 to 22:00?
4 06:30 to 13:30?
S 02:15 to 23:15%
6
7
8
9

@ had to get up at 5:40, or, in sweep-hand time, at , to gom iday.
.\

Thisgtime, in 24-hour time, was

ght a taxi an hour and a half later, when my digital watch read 5(D'
at the airport at 8:05. The taxi ride took minutes. @

legving at 09:25, in minutes. ?0
F/%/ached down for refuelling at Br&sb@ﬁr

7 50 minutes later, ®
8 At 14:23, after another . iR #landed at Cairns.

-minute flight.

We landed at Cairns at p.m.

Another hour and a quarter later, when Dad’s sweep-hand watch read

we finally arrived at our hotel resort.

NSW: Measurement MS3.5; Qld: Measurement M4.2;
Vic: Measurement—Time 4.3; WA: Measurement M4.1; SA: Measurement 3.5




Unit 29 Meney:
oUh‘ts aﬂd

How many notes and coins would be
required to make, as quickly as possible,
the following amounts of money?

1 90 S
$1%85 t

3 ‘8 1
$425

Knowing that our
money system is
decimal in its

hature means

that we can adgf * .
subtract, m [
At $5.70

‘t'\e fouf' oFera‘tiO"S

and dividegone Q
as easilg as fé $7.55
de al

0 $9.90

$16.35

6
7
8 $12.20
9
0

1 $24415

1 30 cents + 5 =

2 60 cents + 12 =

$1.20+ 2 =

8 $1680+8=

9 $27.99+9=

10 $123.50 + 10 =

Fonieiliew purp?ﬁéﬁiﬁﬁiﬁ

(S v
.
L ‘ \ {
, -~
t
. N
\

Sct b}

nts + Qcents = ____—
8 C¥+90 aots =

$1.30

nts

$2.20 + $3.30 =

$4.45 + $2.3 ‘

$4.40 + $3.70 -

2
3
4 $1.20+$
5
6
7

$9.95 + $9.95 =

- -




Set €

1 40 cents — 25 cents =
2 80 cents - 55 cents =
3 95 cents - 30 cents =
4 $1.10 - 25 cents =
5 $1.40 - 95 cents
6
7
8
9

10

@paying $12.50 to enter, | had $ left. CU
.\

| wep#on four rides, each costing $3.00. | then had $ left.

ing a $10.50 show bag, my remaining money was $

@tes that made this money were

@ aving$_
7 | bought my {ZZ&

; 00 show bag each and .
8 | bought a football C8efing E \1 52¢00. | then had $ left

to spend.
9 | bought a drink for $5.00 and some chips for $4.00, leaving $ :

6 Lunch cCQgt

It cost $6 to come home and | was left with $ after a day of great fun.

NSW: Number NS3.4; Qld: Number concepts 4.1;
Vic: Mental computation and estimation 4.2; WA: Number N4.1a; SA: Number 3.8




An L-shaped angle
of 90 degrees is called
a right angle and is the

most common angle in

built environment

angles are lesgh
degrees g

How far from a
right angle are the
following angles?

33 degrees
97 degrees
110 degrees
1 degree
135 degrees
150 degrees

178 degrees

What fraction of 5 right angle
are the following angles?

5
6
7
8

18 degrees

In which Qigedtio
would you eRg
up facing?

Face north, turn 90 degrees right
Face south, turn 90 degrees left
Face west, turn 90 degrees right

Face east, turn 90 degrees left

nEves , turn 90 def‘@\
en -\dur@ar esge

Face north-east, turn 90 degrees left

Face north-east, turn 90 degrees right

Face south-east, turn 90 degrees left

Face south-west, turn 90 degrees right




1 1 o'clock?

Sct €
Are these angles acute, right or obtuse?

1 78 degrees @

2 3 o'clock?

2 S0 degrees e, 3 Bodedd
3 119 degrees aogle formed 4 11 o'clock?
4 32 degrees 2 o'clock?
5 175 degys€s “‘ |}
6 % offa revol
7 45 de
8 4 91 de -

8 ees

7 @ a turn

9,
MO review purpe
g:ef@é W to E?:
>
O NEtoE?
/ to NV:/?i
NI Educa

© =

—

move

SW to W?

o aun A~ W

Y

\_

)

NSW: Space and geometry SGS3.2a, 3.3; Qld: Space S4.1, 4.2; Vic: Shape and space 4.1, Location 4.1;
WA: Space S4.1, 4.3, 4.4; SA: Spatial sense and geometric reasoning 3.12, 3.13, 3.14



Likelihood can be
expressed in words like
‘possible’, as a fraction,

(e.g. =5 ) or as a

Describe the chance of drawing

ese cards as certain, likely,

numbered?

For these 2 an j \
4  picture cards? ____ 3 ablack ca&
you have 5 spades? ___ 4  anumbered
A 6  hearts? ___ 5 a picture card ,
m 7 diamonds? ____ 6 a23 456 @
8 clubs? __ 7  acard smaller than
9 aces? ___ 8 ared, even-numbered card

For rewewyurpeseesh@n

an ace or a black card

1 ablack card

2 aspade

drawing tRg
cards as
percentages.

g aspadeora heart

9 aclubora diamond

10 ablack diamond




Circle the more likely outcome: What is the chance
(circle both if 50/50). Se‘t D of drawing (answer
as a fraction in

1 an ace ora 10 simplest form):
§ 2 an odd card or a red card 1 the ace of hearts? __

3  a numbered card or a picture card SWHA a2?

4 a7oran8 NS "",’:& an even number? ____

W] :
5 an even card or a blg® card %’ ~dd number? _____
L

6 ablack Queg#fora 5 \g

7 aredJgfkorab &ng ’

8 adighmon s e

9 4 o art

10 icture card

Answ%sreview

Every card has the same chance of

purposes o

ing drawh.

chance of drawing a red 2 is 51—2

50%of the cards are numbered.

the cards are picture cards.

g5 6 black picture cards.

0.2 s'are spades.
@ 2)
There areg0 J

k cards.

4 Educa®

11—3 of the cards feature a wornta

There are 10 od®e

\

There are fewer red cards than numbered cards.

NSW: Number NS3.5; Qld: Chance and data CD4.1;
Vic: Chance 4.3; WA: Chance and data C&D4.1; SA: Chance 3.3




Here are some

revision questions !
that will cover all of

the things you have 3

worked throug
since Unitgl.
Good JMick! Q

| 4

Set E

VO 00 N O

10

d 5 are

\ @e
The @

7 7%=0.

AL

1he first two common multiples of 6

5 Round 2 &%7&

6 0.4 equals the fra

[

A

LX
23

7-48 =

8734 -400-20 =

7x8=

200 x 90 =

32 x 88 is about

43 + 8 =

2 Q00 + 50 =
Aa

ext prime number after 7 is

ven prime is

81is
000

auca

8 12x4+2-4+10=__
9 031-02=

378g = kg

Set )

The 7th multiple of 8

) Is . factor of 787

e Qanrithe or composite?

perfe§g square ____




D

055=__ % T 150 in Roman Numerals =

—_—

20% of $300 = 2 47 + 86 =

B xa+10-3=__

0.23m=__cm

28L=

NV 00 N o0 g B~ oW DN

n hearts are in a deck

—
)

95.65
73 ﬁi is an angle

m review purposes only
m 12:57 to 14:00 is ___ minutes. .(\U

outh-west and turn a revolution. You are now facing s‘\

Now that this book is finished, you have completed % of it.




Acute angle
Add
Adjacent
Altogether
Analogue clock
Autumn

Bi

Centi
Centimetre
Century
Composite
Day

Deca

Edge
difference

Equs

]

Fortnight

Kilogram
Kilometre
Leap year

Litre

Margin

Metre
Millennium
Millilitre
Minute
Month
Multiples
Multiply
Nonagon
Obtuse angle
Octa
Octagon

Less than 90 degrees
To group together
Next to

The answer to an addition problem
A sweep-hand clock
March, April, May

olit up into equal pieces or to share
shape with 12 sides

To add a number onto itself

12

How long something lasts

A boundary

Subtraction sums with the same answer,
like 12-3and 11 -2

14 days

The standard unit for mass

Counting in lots

Divide into two equal parts

Half a sphere, like a scoop of ice-cream
A shape with 11 sides

shape with 7 sides

shape with 6 sides

The standard uni
1000 years
One-thousandth of a litre
One-sixtieth of an hour
One-twelfth of a year
The answers to times tables

Count groups

A shape with 9 sides

Greater than 90 but less than 180 degrees
A prefix meaning 8

A shape with 8 sides

Palindromic
number

Penta
Pentagon
Percentage

Perimeter

n

Pglyh
Pgiine
Produc
Quad
Quadrilateral
Quadruple
Quotient
Regular (shape)
Remainder

Remove
Revolution
Rhombus

Right angle
Round

econd
Semester
Sequence
Share
Simplest form

Solve
Sphere
Spring
Square root

Subtract
Sum
Summer

Week
Winter
Year

ses.onty

A number like 525, that is the same
forwards as backwards

A prefix meaning 5
A polygon with 5 sides
Parts out of 100

The result of a number being multiplied
by itself

length of the boundary of a shape

i S

To multlpIQ
The result sk
Having the sa

What is left over afte
has been comple

To take away
A turn of 360 degr

A 4-sided figure with al si
no right angles

An L-shaped angle of 90 degrees

To take a number to the nearest
10, 100, 1000 etc.

One-sixtieth of a minute
Half a year at school
A number pattern

To divide into equal piegesm
S

To write a fraction usin
numbers possible

To find the answer to alg e
A 3D shape like a ba&

September, Octobéh e

dition problem
, February

ggffter of a year at school
together without leaving gaps
Groups of

The answer to an addition problem
A prefix meaning 3

To multiply by 3

2 times, or to double

The corner where lines meet on 2D
or 3D shapes

7 days
June, July, August
365 days
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